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P.T.O.

This question paper contains 4 printed pages]

LA—49—2024

FACULTY OF HUMANITIES

B.A. (Third Year) (Sixth Semester) EXAMINATION

APRIL/MAY, 2024

ECONOMICS (Optional)

Paper–XI

(Mathematical Economics–II)

(Saturday, 13-04-2024) Time : 10.00 a.m. to 12.00 noon

Time—2 Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Calculator is permitted.

(i)

(ii)

(iii)

1. Define analysis of variance and explain the one-way classification. 10
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7

WT (    2    ) LA—49—2024

Or

The following figures relate to production in kg of varieties A, B, C of wheat

shown 12 plots. Is there any significant difference in the production of three

varieties ? (f0.05 = 4.26)

12 A, B, C 

(f0.05 = 4.26)

A B C

16 16 20

18 15 18

20 17 21

— 24 21

— — 22

2. Explain the concept of cost and revenue function and their interrelationship.

10

Or

Find the maximum and minimum values of the following functions :

(a) y = x2 – 4x + 5

(b) y = x2 – 10x + 7

2 P.T.O.
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P.T.O.

3. Explain the methods of measuring price elasticity of demand. 10

Or

Find the distance between two points, if A (14, – 3) and B (6, – 9)

A (14, – 3) B (6, –9) 

4. How will you derive the equation of a straight line whose slope is given and

passing through origin ? Explain with diagram. 10

(slope) 

Or

Find the optimum commodity purchases for a consumer whose utility function

and budget constraint is U = q1 q2 and q1 + 5q2 = 10 respectively.

U = q1 q2 q1 + 5q2 = 10 
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5. Write short notes on any two : 10

(i) Assumption in Analysis Variance

(ii) Cardinal Utility Function

(iii) Find the slope of the line joining P (–2, 3) and Q (8, –5).

(iv) Given the demand function Q = 7 – 2P and P = 2, find the elasticity

of demand.

(i)

(ii)

(iii) P (–2, 3) Q (8, – 5)

(iv) Q = 7 – 2P P = 2 

LA—49—2024 4
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